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Question Number : 1 Question Id : 67809417624 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical
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Question Number : 2 Question Id : 67809417625 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical
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(Question Number : 3 Question Id : 67809417626 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

If two rows or two colunms of a deternunant are identical then the value of the determinant is

Options :
™

| -

Cuestion Number : 4 Question Id : 67809417627 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

265 240 219
The value of 240 225 198] 1is
219 198 181

k-2

(Question Number : 5 Question Id : 67809417628 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Yertical

=
[

The adjoint of the square matrix A =

s D

Options :

.3 = LN

1

1

15
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Question Number : 6 Question Id : 67809417629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
G L 5
| 2i-1  3i-1
10 15
R e | Ir—1
11 7
I 5 i | Zpe=]
3.
1 2
4 2—=1 S —l

(2x—1)(3x—1)

Question Number : 7 Question Id : 67809417630 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
>

=

7 Heh |

1.

(-1 (x-2)
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Cuestion Number : 8 Question Id : 67809417631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 - -
IftanA = - and tanB = < then tan(A — B) =
Options :

1
|7

-1
27

1
3 5

1
4 3

Question Number : 9 Question Id : 67809417632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of cotZA + tanA —

Options :
| SInZA
+ CO0S2A

sec2A

s

- cosecZA

P

Question Number : 10 Question Id : 67809417633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :

¢ sin/\

v cosA

tanA

—

4 cotA

Question Number : 11 Question Id : 67809417634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. .. T ., 2 . 3m . 4m
Thevalueof sin—sin—sin—s8in— =
5 5 5 3
Options :
&
1 15
=N
2. 16
-
., 16
J.
7
4 1>

Question Number : 12 Question Id : 67809417635 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

The value of c0s20° 4 cos100° + cos140° =

Oplions :

O

s
'—
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The value of Y a(b? + ¢?)cosA is

Options :
| 2abce

s

Question Number : 14 Question Id : 67809417637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. 9 L T T & O T
The value of (a — b)*cos® (E) + (a + b)?sin® (E) is

Options :

6

» O

CS

L

; C°

Question Number : 15 Question Id : 67809417638 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 .
The value of 2tan (E) + tan 1 (-;) 15

Options :

, w4

.;r[l,-'-':}
3. T[J'IIG
4 T3

Question Number : 16 Question Id : 67809417639 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

it
Znit ==
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7
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3. 6
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(Question Number : 17 Question Id : 67809417640 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4 1 -1 - it 5 :
Iftan™'x+ tan™'y + tan~'z = T then the value of xy + yz + 2x 1s

Oplions :

L=l
1.3
300
4.1

Question Number : 18 (Question Id : 67809417641 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of a complex number v3 +1{ 1s

Oplions :
-

L. ==

s
I-2

Cuestion Number : 19 Question Id : 67809417642 Display Question Number : Yes Single Line Question Option : No Option

Mrientatinn « Verticral
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Options :
| 2cosn0
» -2 cosnt

| 3 cosf

Ll

2 sin nf
4,

Question Number : 20 Question Id : 67809417643 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The centre of the circle:x? 4 y2 2x 1 6y —6=0 13

Oplions :

¢ (1:3)

4

Pl
[~
T

R

e
N

(%)
f—

L (-1.3)

Question Number : 21 Question Id : 67809417644 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the circle: 5x% + 5y? — 6x + 8y — 75 =0 is

Oplions :

| -4

L
-2

TJ_J

Question Number : 22 Question Id : 67809417645 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ecnation of the narabola with vertex (2. —1) and foens (2. —3) ic
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x?  Ax gy — 12

-

x2+4x -8y 12 =0

o

%% 4 5x —~8y - T1L =0

Cuestion Number : 23 Question Id : 67809417646 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The centre of the ellipse: 9x% + 25y% — 18x + 100y — 116 =0 is
Options :

(2 1)

(~1:—2)

Lo

(L, 2)

e

z. (3r2)

Question Number : 24 Queslion Id : 67809417647 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥

- - X B ;
The focus of the hyperbola———=1 15
’ 25 144

Options :

 (-13,0)

. (13,0)

, (13,1)

Cuestion Number : 25 Question Id : 67809417648 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the major axis of the ellipse: 4x 2 -+ 3y? = 48 is
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(Question Number : 26 Queslion Id : 67809417649 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v —1
r—1

The value of limy_y

Options :
i 3

—
]

Question Number : 27 Queslion Id : 67809417630 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_ a+bx | o ) | |

It y= o then the derivative of ¥y with respect to X 1s
Options :

a‘+h-
{ (b—ax)?

aZ+h?
v (b+ax)=

g% -b*
_ (b-ax)?
.

a+b
4 (b—ax)?

Ouestion Number : 28 Ouestion Id : 67809417651 Displav Ouestion Number @ Yes Sinele Line Ouestion Ontion : No Obption
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Options :

1 (x — 3)x%e®

(e— 2)n"e®

-

(x 1 3)x?%e*

)

(x — L)x3eX

Question Number : 29 Queslion Id : 67809417632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ay

X

If v =secx +tanx then 1S

Options :

| Y cosx
, ysecx
. —Y8Inx
J

tan x
47

Question Number : 30 Queslion Id : 67809417633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2+3sinhx

HTy= —— then the derivative of y with respect to x 18
2+2sinhia
Options :
5coshx

 (3+2sinh Ty

Ssinha

(3+2sinhx)<

-

5sinx

; (3-2coshx) =
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Question Number : 31 Question Id : 67809417654 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g fl—cusx ay .
[fy= |—— then =— 15

\ l14+cosx (o

(Iptions :

- A
sec” (—)
1 2

Lo

Question Number : 32 Question Id : 67809417655 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves y = x2% 4+ 3x — 7 and y2 =2x +5 at(2,3) is
Options :

1 tan =2

-

seclh =2

. cosh =1

mé =3

Question Number : 33 Question Id : 67809417636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of X for which the function x® 3x?  45x | 2 isincreasing with X is

Options :

. (3,-5)
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, (35)

, (=35)

Question Number : 34 Queslion Id : 67809417657 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of the function 2x2 — 12x2 4+ 18x 4+ 5 1is

Oplions :
f, L3

12

-

s

P
i
_h

(Question Number : 35 Question Id : 67809417658 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o . i . ou du
[fuis a homogeneous function of x and y with degree n then x 5 | P
Options :

1. —nu
s néu
. Nu
J,
2 i
g Ut u

(Question Number : 36 Question Id : 67809417659 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of | ———dx is

A

Options :

| 2sinvx t ¢
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_2simx + ¢
.

; smyx 1 ¢

Question Number : 37 Question Id : 67809417660 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. ax ;
The value of r = I3
Va-—x<

Oplions :

1 AL
sin~ 1 (—) fes
2 a
. s X
ginh (H) + C
3 g
. a
i~ (—) +C
4. +

Question Number : 38 Question Id : 67809417661 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

ax

The value of ( e

B s o B o o [

Oplions :

1,
1 2x+1
~cot 1( )‘l—C

) HA
1 < (2v+1
~sin 1( +c

3, 4

4 {21 1
Stan | - )—rC
; 4
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The value of J logx dx is

Oplions :

| xlogx+x+c¢

leegx x | c

xlogx — %+ ¢

]

b
il

:
xlogk ——+
2

Question Number : 40 Question Id : 67809417663 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. d — 1 :
The value ot Jl (vx + _T) dx 1s
VX

Oplions :

20
I a3

_ 0

10
: 3
J.

J._S_
g 7

Question Number : 41 Question Id : 67809417664 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% M2 L e
The value ot ’ sin? x dx 1s

Options :
T
1 I 2
T
S 4
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Cuestion Number : 42 (Question Id : 67809417665 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area enclosed between the curve y? = 4ax and the line x = 2y is
Options :

64 .
— $(]. UNIts

64

— 8(. UNIts

65 :
: 5. units

L

63 .
: s¢.units

Cuestion Number : 43 (Question Id : 67809417666 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s 1 1 1 ,
The value of limy [— + — 4+ —] is
n+1 n+2 n=n

Options :
, log?2

. log3
9 log?2

logn

(Question Number : 44 Question Id : 67809417667 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Form the differential equation by eliminating the arbitrary constant @ from ay” = x?3

Oplions :
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1 Ll LX

dy _ 2
) (11 3Y

v _x
348 )

ty _ 2y
4 8 % K

Cuestion Number : 45 (Question Id : 67809417668 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_—

The solution of 1 — ¥2dx ++v1 —x2dy =0 is

(Iptions :

,cosTtxtcosTty=c

) cos lx fsecTlx=c
3.
W T T
sin “x +8smn "y=¢c
4.

Question Number : 46 (Question Id : 67809417669 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: .4y | :
The solution of e (4x +v +1)?% is

Oplions :
1 =0 I/'-ft'l'ﬂb"[—l\ .
—tan ‘L,—):'X—‘—C
Z 2 y
1.
1 1 (4x+y+1
“cot T |/——)=x+c
R \ 2 .

1 4 [dr+yv+1
- =tan l(f) =x +€

£

e
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(Question Number : 47 Question Id : 67809417670 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i i e ; ; 3 ;
The solution of exact differential equation 2xy dx + x“dy = 0 is

Options :

P
Ry
s XA =

By
; Xy =c¢
4 x2y3 = ¢

(Question Number : 48 Question Id : 67809417671 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: . ay _x .
The solutionof _—ty =e Y s

Options :

) (x + cle™™

(x—c)e*
(x+c)e?
3

C LAY 2
i (x + c)e™*

Question Number : 49 Question Id : 67809417672 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (D¢ + 5D + 6)y = eV is

Options :
—p~X
;| 12
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Cuestion Number : 50 (Question Id : 67809417673 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complementary function of (D? + 3D + 2)y = 8sinSx is

Options :
cie™™ 4 e
1.

]

Physics
Number of Questions: i

Display Number Panel: Yes
Group All Questions: No

Cuestion Number : 51 Question Id : 67809417674 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not the unit of energy?

Options :
1 watt second

. Pascal metre
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4 Kilowatt hour

Cuestion Number : 52 Question Id : 67809417675 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of Mercury barometer is 76 cm and density of Mercury is 13.6 g/cc. The

corresponding height of water barometer in Sl system is

Options :
10.336 m

103.36 m

-

s
LA
o
—
-
4

4 1.0336m

(Question Number : 533 Question Id : 67809417676 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Angle made by the vector (V3 i + j) with the X-axis is
COptions :

1 /2

/4

-

/3

ey

4 TU/0

Cuestion Number : 54 (Question Id : 67809417677 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum number of unequal forces in a plane that can keep a particle in equilibrium is

Options :

. 4
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Question Number : 535 Queslion Id : 67809417678 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is thrown with a velocity of (47 + 3j) m/s. The maximum height attained by

the body is (g=10 ms™)

Options :
[ 2.0m

-

45 m

| 0.8 m

[N

| 0.45 m

Question Number : 56 Question Id : 67809417679 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

A person in a lift, which ascends up with acceleration 10ms™, drops a stone from a height of

10m. The time of descent is (g=10 ms'z)

Oplions :

| 05s

w 1 5

1.55

s

(Question Number : 57 Question Id : 67809417680 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a projectile, the ratio of maximum height reached to the square of time of flight is

(Iptions :
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Question Number : 538 Question Id : 67809417681 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of distances travelled by a body, starting from rest and travelling with uniform

acceleration, in successive intervals of time of equal duration will be

Options :

1. 1:2:3

e

-

3 15305

1286

=

Question Number : 59 Question Id : 67809417682 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A tforce of 12 N acts on a body of mass 4 kg placed on a rough surface. The coefficient of
friction between body and surface is 0.2 and take g= 10 ms ™. The acceleration of the body in

ms = is

Oplions :

L

—

(Question Number : 60 Question Id : 67809417683 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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brakes will stop the train in a distance which is

Oplions :

. d/f2

-

4d

]

4 d

Question Number ; 61 Question Id : 67809417684 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of linear momentum and velocity of a body represents

Oplions :

Kinetic energy of the body

Potential energy of the body
Half the Kinetic energy of the body

Twice the kinetic energy of the body

Question Number : 62 Queslion Id : 67809417685 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A man weighing 60 kg eats plum cake whose energy content is 9800 calories. If all this

energy could be utilised by him, he can ascend to a height of

Options :

[ 17 m

» 100 m

70m

s

4 60m
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Orientation : Yertical

A crane can lift up 10,000 kg of coal in 1 hour from a mine of depth 180m. If the efficiency of

-
=

)

the crane is 80%, its input power must be (g=10 ms

Options :

| 62.5kw
. 6.25 kW

50 kw

(]

5 kW

Question Number : 64 Question Id : 67809417687 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The graph of acceleration as a function of displacement in the case of a body executing
simple harmonic motion is
Options :

1 Parabola

-

Hyperbola

Straight line with positive slope

Straight line with negative slope

Question Number : 65 Question Id : 67809417688 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The pendulum of length 'L swings from mean position toc mean position 'n’ times in one

second. The value of acceleration due to gravity is

Options :
| el

TN
s 2mn’L

collegedunia:s

India’s largest Student Review Platform




" dnn’L

Question Number : 66 Question Id : 67809417689 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

When a source of sound is in motion towards a stationary observer, the effect observed is

Options :
Decrease in velocity of sound

. Increase in velocity of sound
increase in frequency of sound

decrease in frequency of sound

Question Number : 67 Question Id : 67809417690 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of a male person is different from that of a female person hecause

Options :
1 Two sounds have different phases

Two persons are of different size
Two sounds travel with different velocities

Two sounds have different pitch

Question Number ; 68 Question Id : 67809417691 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the sound absorption of a hall is changed by 2%, then the percentage change in the

reverberation time is

Options :
| 2%
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3 1.»’:2!

No change
4.

(Question Number : 69 Queslion Id : 67809417692 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following process, the internal energy of the system remains constant?
Options :

Adiabatic

P

. lsothermal
|5<:1i?:arir;.

lsochoric

o

Question Number : 70 Question Id : 67809417693 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Heat required to raise the temperature of one gram of water through 1 Kis

Oplions :
1.0 Kcal

-

-

D1 Kcal
5 0.01 Kcal

i 0.001 Kcal

Cuestion Number : 71 Question Id : 67809417694 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas in an isothermal process is

Oplions :
| infinity
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Finite positive
J.

; Finite negative

Question Number : 72 Queslion Id : 67809417695 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Specific heat of aluminium is 0.25 cal/g/°C. The water equivalent of an aluminium vessel of
mass one kilogram is

COptions :

40 cal/°C

-

400 cal/°C

250 cal/~C

25 ea 1/°C

Ja

(Question Number : 73 Question Id : 67809417696 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What should be the percentage increase in the pressure so that the volume of a gas may

decrease by 5% at constant temperature?

Options :

Question Number : 74 Question Id : 67809417697 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical
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function is 2.2 eV, then the wavelength of incident radiation is

Oplions :

. 4000A
2000A

3000A

(]

, 20004

(Question Number : 75 Question Id : 67809417698 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the angle of incidence of a ray is greater than the critical angle at the core — cladding
interface in an optical fiber, then the ray travels
Options :
in the core
in the cladding

in the buffer

along the interface

Chetmstry
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Queslion Id : 67809417699 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pauli's Exclusion principle states that two electrons i same orbital have

Options :
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cdifferent spins
_ Opposite spins
J.

verncal spins

Cuestion Number : 77 Question Id : 67809417700 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Orbits 1n which electrons move according to Bohr are
Options :

. elliptical

cvlindrical
g circular

i oval

Cuestion Number : 78 Question Id : 67809417701 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Phosphorus has an atonmuic number of 15, A stable phosphorus atom has an electronic
configuration of

Oplions :

2 ? -0
) lS':S'.-.pG:ﬁp'

7 B = T
1572572p%3573p°

"

L AL
C 1s725729%3s3p 4
a.

: 15311}61d?

Question Number : 79 Question Id : 67809417702 Display Question Number : Yes Single Line Question Option : No Option

Orrientation : Vertical
gcollegedunlaa
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Oplions :

. Covalent

-

- Tonic

Polar

Ll

~vander Waals

d=

(Question Number : 80 Question Id : 67809417703 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bond formed due to sharing of electrons 1s

(Iptions :
. Tonic bond

i Netallic bond

Polar bond

Ll

~Covalent bond

N

Question Number : 81 Question Id : 67809417704 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The normality of solution obtained by dissolving 5.3 grams of Na-CO; mn 1 litre
solution 15

Oplions :

; LN

-

0.IN

0.05N

L]

, 0.5N

Question Number : 82 Question Id : 67809417705 Display Question Number @ Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :

[ XﬁgC()g

> Na('l

L
|

Cuestion Number : 83 Question Id : 67809417706 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 moles of a solute 15 dissolved m 10 litres of solution. What 1s 1ts molarity?

Options :

12 M

=+
-2
"
==

]
-
rn
';;;7-J

C0.2M

B [

(Question Number : 84 Question Id : 67809417707 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Process m which acids (H ) and bases (OH) react to form salts and water 1s called
Oplions :

1 Neutralization

. Halogenanon

Hydrogenatuon

3 Hvdrolvsis

(Question Number : 85 Question Id : 67809417708 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
gcol legedunia:
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Options :
, Lewis acid

| [ewis base

Lo

Bronsted-Lowry acid

p Bronsted-Lowry base

(Question Number : 86 Question Id : 67809417709 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One Faraday 1s equal to

Oplions :

| 99650 C

-

193100 C
. 96300 C

194500 C

i

Question Number : 87 Question Id : 67809417710 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The cell reaction of a cell is Mg(s) + 2 H (aq) — I\-’Ig3+{;a(1j} + Hx(g). If the standard

reduction potential of Znis —2.372 V. then the emtf of the cell 15
Options :
{ FL.32 N
g = LTIV
; 0.00V

(Juestion Number : 88 Question Id : 67809417711 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

. Electrical energy to chenucal energy
Chemical energy to electrical energy
Chemuical energy to free energy

Potential energy to kimetic energy

Question Number : 89 Question Id : 67809417712 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

Mass of substance produced at electrode 1s directly proportional to the quantity of
electricity passed. This 1s known as

COptions :

. Faraday's second law

Faraday's first law
; Newton's third law

; Newton's first law

Question Number : 90 Question Id : 67809417713 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Hardness of water 1s expressed i terms of equivalent of
Options :
1 Na-CO;

K->CO;

i_\'[g(:q(:)g

]

Ca C(:)3

L ]
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Temporary hardness 1s caused by
Oplions :

. Carbonates of calcium and magnesium
Chlorides of calcium and magnesium
Sulphates of calcium and magnesium

Nitrates of Calcium

Cuestion Number : 92 Question Id : 67809417715 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exhausted zeolite bed can be regenerated by washing with

Oplions :

, NaCl

dil. NaOH

-

~dil. HC

L]

Distilled water

45

(Question Number : 93 Question Id : 67809417716 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Corroston 1s an example of

Options :

Oxidation

]

. Reduction

Electrolvsis

]

Halogenation

L ]
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The composition of rust 15

Options :

. Fe(OH);

FCCI_:-,

-

FeO

(]

FE’;O}. XHEO

(Question Number : 95 Question Id : 67809417718 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one ot the following statement 1s not true?
Options :
Natural rubber has the trans-contiguration at every double bond

Buna-S 1s a copolymer of butadiene and styrene

Natural rubber 1s a 1. 4-polyvmer of 1soprene

o

In vulcanization. the formation of sulphur bridges between different chains
makes rubber harder and stronger

(Question Number : 96 Question Id : 67809417719 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers of Buna-S rubber are

Options :
Styrene and butadiene

1
Styrene and 2-propene
, [soprene and butadiene

L ]
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Question Number : 97 Question Id : 67809417720 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The plastics which soften when heat 1s applied with or withourt pressure. but require
cooling to set them to shape are called as

Options :
1 Thermosoftmg materials

Thermosetung materials

Thermoplastic materials

Ll

; Thermostatting materials

Question Number : 98 (Question Id : 67809417721 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statement 1s not true about ideal tuel?

Options :
. High caloritic value

High moisture content

-

- Low cost

(]

, Moderate 1gnition temperature

Question Number : 99 (Question Id : 67809417722 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enviromuental pollution attects

Oplions :

Humans onlv
i J

. Plants only

gcollegeduniaa
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) Both abiotic and biotic components

(Question Number : 100 Question Id : 67809417723 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Laver of atmosphere i which ozone laver lies 1s
Options :

. Troposphere

Stratosphere

Exosphere

, Mesosphere

Electrical and Electrotics Engmeering

Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 67809417724 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

A network contams four resistors 1 senes across an tdeal voltage source. I the values of all the resistors are doubled then the
voltage acrass fach resistor will

Options :

1. be inereaged by - tunes

e

2. bemereaged by 4 tumes

L]

. be decreased by 2 times

4. not change

Question Number : 102 Question Id : 67809417725 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

It each branch of a delta circuit has resistance of 1.732R. then each branch of its

equivalent star circuit has resistance of

Options :

collegedunia:s

India’s largest Student Review Platfarm




]
'_l.

1
f o
[ -2
S

s

Question Number : 103 Question Id : 67809417726 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Theverun's equivalent circuit consists of
Options :
1. A voltage source i1 parallel with resistance

e

2. Avoltage source m series with resistance

]

A current source in parallel with resistance

4. A current source m senes with resistance

Question Number : 104 Question Id : 67809417727 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Which of the followimg statement 15 correct?
Options :
1. Resistor 15 an active element

-

2 Inductor 13 an active elenent

]

CWoltage source 15 a passive element

4, Current source 15 an active elament

(Question Number : 105 Question Id : 67809417728 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mutual mductance between two coupled coils with self mductances L;=9 H

and L> =4 H with a coefficient of coupling of 0.5 15

COptions :

S H

-l
o
s

s

Question Number : 106 Question Id : 67809417729 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the distance between two charges 15 doubled, the force between them

Options :
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4 decreases four tianes

Question Number : 107 Question Id : 67809417730 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The heat produced m a current carrving conductor 1s

Oplions :

IRT

5 2 ek

TR"T

)

IRT"

(Question Number : 108 Question Id : 67809417731 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[f the number of conductors and speed of a Lap wound D C. Generator 15 doubled then the generated e £ will be

Options :
1 Eetnaing same

-

2. Double the former value

 Four tines the former value

(]

4. Fight times the former value

(Question Number : 109 Question Id : 67809417732 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A4 pole, D.Cowave wound Generator tuns at 800 r.p.m. The flux per pole 15 0.015 webers and generator no load voltage 18
240V olts. The number of conductors are

Options :
1. 600

2. 300
3. 1000
4. 1200

(Question Number : 110 Question Id : 67809417733 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sunplest way to shuft load from one D C. shunt generator runmumng m parallel wath another 15 by

Options :
1. Adpusting ther field rheogtats

e

2 Ingerting resistance m thewr armature circuits

]

CAdusting the gpeeds of their prume maovers

4. Using equalizer connections
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The voltage regulation of an over-compound D T generator 15 always
Options :

1. Positive

2. negative

3. Zero

4. high

(Question Number : 112 Question Id : 67809417735 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

D C Shunt motors are conunondy used

COptions :
. Cranes

2 Electric Traction
3. Elevators

4 Lathe maclines

Question Number ;: 113 Question Id : 67809417736 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The voltage equanion of a D.C. motor 13

(ptions :

I T\":E-b-'.IER_ﬂ

o3 Eb:\d_I;{Ra
3 R-szb_IaRa

R-v:Eb_Igle

(Question Number : 114 Question Id : 67809417737 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 4 pole 240V, d.c. sertes motor has a wave wound armature with 180 conductors.
The armature resistance and freld winding resistance are 0.10€2 and 0.20Q
respectively. If the motor 1s drawing J0A current at 0.015 webers flux per pole.

then the speed under this condition 1s r.p.1m.

Options :
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Question Number : 115 Question Id : 67809417738 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The capacity of a battery 15 expressed in

(Iptions :
1. watts

2 W olt hours
3. Ampere howrs

4 Ohin hours

Question Number : 116 Question Id : 67809417739 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Noving cod and moving won msttuments can be distinguished by looling at

Options :
1. Ther range

e

2. pomter
3. scale

4 5Size of tertnals

Question Number : 117 Question Id : 67809417740 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

It dynamometer wattmeter, munber of cois used are
Oplions :
l 8]

e

34
4.

(SN

[ ¥

Question Number : 118 Question Id : 67809417741 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg trangducer 15 known as "self generating transducer™ ¥
Oplions :

1. Passive trangducer

2. Active transducer

3. becondary trangducer

4. Analog transducer

Question Number : 119 Question Id : 67809417742 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a Iegger 14 not i operation then its needle shows a registance of
Options :
1. Zero oluns

-

2010 oluns

100 oluns

L]
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Question Number : 120 Question Id : 67809417743 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If1 a pure mductive circut, the voltage will be
Options :

1. Inn phage with current

2. Lags the current by 00 degrees

3. Leads the current by 00 degrees

4. Lags the current by 45 degrees

(Question Number : 121 Question Id : 67809417744 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The peals factor 14 the ratio of
Options :
1. Pealt value to RIVIS value

2. RIVS value to peals value
3. average value to RIVIG value

4. RIS value to average value

(Question Number : 122 Question Id : 67809417745 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sertes RLC circuat has a resonant frequency of ty Hz. It all the circuit element

values are doubled. the new resonant frequency 1s

(Iptions :
s i Rl
| =10

-
=t
P

<
i
I
N
bt
s

(Question Number : 123 Question Id : 67809417746 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A three phase balanced delta connected circuit has a load mpedance of (6+9)

ohms per phase. What 1s 1ts equivalent star connected load mapedance per phase in

ohms ?

Options :

. (6519)
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Question Number : 124 Question Id : 67809417747 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In two wartmeter method of measuwrement of power. 1t the fwo wathmeters

readings are equal. then the power factor will be

Options :
| Zero

ity

-

0.5

L

(J.866

Question Number : 125 Question Id : 67809417748 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A step-up transformer ncreases

Oplions :
1. voltage

e

~ocurretit

]

. power

4. frequency

CQuestion Number : 126 Question Id : 67809417749 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& transformer having 1000 prunary tums 18 connected to a 2500V A C. supply. For a secondary voltage of 400%, the munber of
secondary tinsg should be

Oplions :
1. 250

- 400
3.5

4. 1600

CQuestion Number : 127 Question Id : 67809417750 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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equivalent resistance referred to secondary 1s

Options :

| 0.5C2

, 0.029

0.048

]

2

i
| B
s’

CQuestion Number : 128 Question Id : 67809417751 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 100KV A transformer has an o logs of P00VY and full load copper loss of 1600V, Its load KVA corresponding to mazinnum
efficiency 13

Oplions :

1. 563 kKVA
2333 KVA
3. 5 1VA

4. 1777 KVA

CQuestion Number : 129 Question Id : 67809417752 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It two transtormers A and B are operating i parallel. with voltage rating of
transformer A 15 slightly greater than that ot transiormer B. If Ey and Ep are
mduced emifs. Za and Zg are the mpedances of transformers A and B then the

circulating current I 1s given by

Options :
: (Ea-EB)(ZaTZR)

(EotbEn) L aten)

-

3 (Za-ZB) (Ea-EE)

(Za+Zp) (EA+EB)

CQuestion Number : 130 Question Id : 67809417753 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The nhase shift i1 a star-star comected three phase transformer 1g
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2. 30 degrees

]

120 degrees
4. 1350 degrees

Question Number : 131 Question Id : 67809417754 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

A auto transformer supplies a load of 310V at 115% at untty power factor. If the applied prumary voltage 15 230V, calculate the
power transferred to the load mductively by neglectmg losses.

Options :

1. 051

B 2%

3.0 1.510W

4. 21V

Question Number : 132 Question Id : 67809417755 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The frequeticy of a 4 pole alternator rumung at 1500 RPL will be

Oplions :
1. 100 Hz

2. 60 Hz
3. 50 Hz
AN s

Question Number : 133 Question Id : 67809417756 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The datk and bright lamp method 15 used for
Oplions :
. Transfer of load

. synchronzmg

Lo

(]

. Balancmg of load

4. Phase sequence

Question Number : 134 Question Id : 67809417757 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[11 at1 altemnator, the armature reaction mifluences

Options :
1. Generated voltage per phase

2. frequency

L]

. Operating speed

s

Winding logses

Question Number : 135 Question Id : 67809417758 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The power developed by a syncliwonous motor will be mazmimn when the load angle 15
Options :
1. 0 degrees

T 1 "": F1 Mt o a
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Question Number : 136 Question Id : 67809417759 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

An over ezcited synchronous motor 14 used for
Options :

1. Fluctuating loads

2 Wariable speed loads

3. Low torque loads

4 FPower factor correctiong

Question Number : 137 Question Id : 67809417760 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

If the field of a gynclronous motor 15 under exzcited, the power factor will be

Options :
1. zeto

2 vty

3. lagging

4. leadmg

Question Number : 138 Question Id : 67809417761 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

A 4-pole, 3-phase mduction motor 15 ruung at 4% slp at full load. If the speed of the motor 13 720 rp.m., the supply frequency
15

Options :
Lol 5.1

X IR
3. 50 Hz
4. 60 Hz

(Question Number : 139 Question Id : 67809417762 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rotor power output of a 3-phase mduction motor 15 1510V and the corregponding ship 15 4%. The rotor copper logs will be

Options :
1. 600V

]
[ ¥
LN

(Question Number : 140 Question Id : 67809417763 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the rotor of a 3-phase mduction motor 1s blocked. the slip 13

Options :

L
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Question Number : 141 Question Id : 67809417764 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Double squirrel cage mduction mator has
Options :
1. Two geries windiigs m stator

e

2. Two senes windings m rotor

]

- Two parallel windings m rotaor
4, Two parallel wimdings m stator

(Question Number : 142 Question Id : 67809417765 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A capacttor start, capacitor 1un Induction motor 15 basically

Options :
. two phase motor
2. D.C. motor

3. Communutator motor

4. Synclironous motor

(Question Number : 143 Question Id : 67809417766 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followiig motor 15 most suttable for computer drve prters”
Options :

. Reluctance motor

2. Hysteresis motor

3. bhaded pole motor

4. Stepper motor

(Question Number : 144 Question Id : 67809417767 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ash content of Indian coal 15 approximately

Options :
| 304
8%
5 10%
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Orientation : Yertical

A Kaplan turbime 14

Options :
A Tow hiead axal flow turhine

2. A high head mmuzed flow turbine
3. Inward flow unpulge turbmne

4 Outward flow reaction turbie

(Question Number : 146 Question Id : 67809417769 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The nuclear reactor starts generation wlhen

COptions :
1. The safety rod 15 ingerted mito the core

e

2. The safety rod 15 withdrawn from the core

- The shum rod 13 iserted into the core

]

4 The shim rod 13 withdrawn from the core

Question Number ;: 147 Question Id : 67809417770 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The maxmmum demand of a conswmner 15 2kW and his daily energy consumnption 1s

20 umits. His load tactor 1s

Options :

| 10.15%

S04

s

T&D

Question Number : 148 Question Id : 67809417771 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It 15 always econonucal to unprove the power factor of an mistallation to
Options :

1. zero

2o vty

3. 4 little less than wuty lag

4. A little less than vty lead

Question Number : 149 Question Id : 67809417772 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

A 3-phase brealeer 15 rated at ZO000MYVA, 33187 s brealdng current will be

Options :
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3. 70kA
4. 30kA

Question Number : 150 Question Id : 67809417773 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The picloup value of a relay 15 7 54 and fault current m relay codl 1 3754 Its plug setting multplier 13
Options :
kil

¥ £
P

T
1

k¢

4.5

Question Number : 151 Question Id : 67809417774 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Amho relay 15 a

Oplions :

1. Voltage restramied duoectional relay

-, “oltage controlled over curent relay

3. Drectional restramed over current relay

4. Directional restramied over voltage relay

CQuestion Number : 152 Question Id : 67809417775 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Buchholz relay provides protection of the transformer from

Oplions :
1. External faults

-

. Internal faults

L

(]

. Laghtening faults

4 Diglectric breakdown

Cuestion Number @ 153 Question Id : 67809417776 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A differential protection gystem regponds to the of the two electrical quantities.

Options :
1. Anthimetic differetice

-

O Anthmetic sum

Vectonal difference

Y

4 Vector Hum

Question Number : 154 Question Id : 67809417777 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The transfer of electrical energy from consumers localities to the consumers premiges 15 called

Options :
. Primary transnugsion

-

2. Primary distribution

. secondary transnussion

L]
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Question Number : 155 Question Id : 67809417778 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The capacitive effect 13 negligible i

Options :

1. Hhott transmussion nes

2 Ddedim transmission hnes
3. Long transmission lines

4. MMednm and Long transnussion nes

(Question Number : 156 Question Id : 67809417779 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ourge impedance of a transnussion e 18 @ven by

Options :

I Square root of (L/C)
. bquare root of (C/L)
3. Hquare root of (LC)

4. Square root of ( I/LC)

(Question Number : 157 Question Id : 67809417780 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the conductor diameter mereases, mductance of the ine

Options :
1 decreases

2 Increasges
3. REetaing same

4. Equal to zero

(Question Number : 158 Question Id : 67809417781 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fust HVDC scheme i India 13
(Iptions :

1. Vindhyachal back to back systemn
2. Chandrapur - Padghe Scheme
3. Dellu - Rihand 500K system

4. Sileru -Barsoor system

Question Number : 159 Question Id : 67809417782 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ACUBE conductor anplies
Options :
1. Al Conductors Hurface treated and Realigned

e

2 Alumintum Cotiductor Steel Eeatiforced

CAnpde Current Situgotdal Fun

]

4 Anodised Core Smooth Fun

Question Number : 160 Question Id : 67809417783 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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1. Shunt reactor

D Exciters

]

voltage transformers

4. Series capacitors

(Question Number : 161 Question Id : 67809417784 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The most commonly used matenal for nsulators of overhead lines 13
COptions :

1. Plastic

2. Rubber

3. Wica

4 Porcelan

Question Number ;: 162 Question Id : 67809417785 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Lz compared to a D C 2-Wire distnibutor, a 3-Wae distributor with same mazimun voltage to earth uses only
percent of copper.

COptions :
1. 66.66
2= 150

b

LA

L

3

4.7

|

Question Number ;: 163 Question Id : 67809417786 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

For the voltages beyond §okV, the cable uged 13

Options :
1. Belted Cables

e

2 Sereened Cables
3. Pregsure Cables

4. 5L Type Cables

Question Number : 164 Question Id : 67809417787 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The mazimum speed attained by a tram on the tun 15 known as

Oplions :

1. Crest speed

.. Average speed
3. bcheduled speed

4. coasting

Cuestion Number : 165 Question Id : 67809417788 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For train lighting the generator used 15

Oplions :

i Q:-l"i ShLAE T AN nirl"-.\:+|"\d'
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4. Synclhronous generator

Question Number : 166 Question Id : 67809417789 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In speed-tune curve for trams, the notclung period i3

Oplions :
1. Constant acceleration period

2. Free runmng penod of tram
3. Braking period of train

4. Coasting period of train

Question Number : 167 Question Id : 67809417790 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg system 15 vsed for long distance radways ?
Options :

1. 250V D.C.

20 25kV, smgle Phase A C.

3. 25KV, 2- Phase A.C.

4. 2518 - Phase AL,

Question Number : 168 Question Id : 67809417791 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

motor 15 preferred for printing machines

Options :
1. Universal
2 Series
3. ohunt

4. D.C. Compound

Question Number : 169 Question Id : 67809417792 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

If the gan of the Open-loop system 15 doubled, the gain margin

Options :
1. Is not affected

2 Becomes half

- Becomes doubled

]

4, Becomes one-fourth

Question Number : 170 Question Id : 67809417793 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Which of the followimg element 13 not uged i an automatic control gystem?
Options :
1. gensor

-

2 Error detector

oscillator

]

4. Final control element
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In bCADA system, the RTU stands for
Options :
. Femote Termunal Unit

2 Round Termial Uit
3. Eemote Thermal Uit

4. Found Thermal Uit

(Question Number : 172 Question Id : 67809417795 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg tool 15 used for holding. grnpping and cutting of wires?
COptions :

1. Herew driver

. hattier

3. Cutting plier

4 haclesaw

Question Number ;: 173 Question Id : 67809417796 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The wire rmuming on the top of the overhead lme, to protect from hghtnng 13 called as

Options :
1. Phase

2 Meutral

]

- otay Wire

4 Earth Wire

Question Number : 174 Question Id : 67809417797 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

In wrrigation pump-sets the accidental opetung of ane of the supply lines 15 lmown as

Options :
. Three phasmg

-

2. Two phasing

(]

- omigle phasing

4. MNeutral phasing

Cuestion Number : 175 Question Id : 67809417798 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rating of the fuse wire 15 always expressed
Oplions :

1. amperes

2. volts

3. watts

4. olnns

CQuestion Number : 176 Question Id : 67809417799 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The current m a Zener Diode 15 controlled by

Oplions :
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3. Zener Diode resistance

4 External resistance

Question Number : 177 Question Id : 67809417800 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientation : Vertical

Fach diode of half wave rectifier concducts for

Options :

1. 90 degrees
2. 130 degrees
3. 270 degrees

4. 360 degrees

Cuestion Number : 178 Question Id : 67809417801 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The transistor used i amplifier circut operates i region

Oplions :
1 active
2. saturation

. Cut-off

]

4 reverge

CQuestion Number : 179 Question Id : 67809417802 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The maxunum etficiency of Class A amplifier 1s

Options :

. 100%%

i~
’—J.
D
o
!

50%

s

4 S'UDEJ

Question Number : 180 Question Id
Orientation : Vertical

The purpose of coupling capacitor w1 an amplifier 15 to

Options :
1. Control the output

-

2. Watch the unpedance

. Control the bandwidth

(]

4 Prevent D .C. mtang with input

Question Number : 181 Question Id

: 67809417803 Display Question Number : Yes Single Line Question Option : No Option

: 67809417804 Display Question Number @ Yes Single Line Question Option : No Option
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I. Four stages of RC circwt
2. Three stages of RC circutt
3. Two stages of RC circt

4. One stage of RC curcuit

(Question Number : 182 Question Id : 67809417805 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oscillator 15 the most stable oscllator

COptions :

1. Crystal controlled
2 Weinbridge

. Colpitts

4. Hartley

]

Question Number ; 183 Question Id : 67809417806 Display Quesiion Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The bage of the hezadechimal number gystem 13

Options :
1 h

e

28
3. 10
4. 16

Question Number : 184 Question Id : 67809417807 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The Gate whose output 15 high, if any of its mputs 15 hugh 13

Options :
1. FAND

R 5] 02
3. NOR
4 EX-OR

Cuestion Number : 185 Question Id : 67809417808 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The memory used for main memory i a hand calculator 15

Oplions :
1. RAM

.. RO

3. FROM
4. EFROM

Question Number : 186 Question Id : 67809417809 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followimg 15 the fastest A to D converter 7
Oplions :
1. Huccessive approzimation converter
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Question Number : 187 Question Id : 67809417810 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

AN BCR 158 Switch

Options :
1. Utucdirectional

2 Two-directional
3. Three-directional

4 Four-directional

Question Number : 188 Question Id : 67809417811 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Turn-on tune of an HCR can be reduced by using a

Options :

1. Rectangular pulse of low amplitude and wide width

2. Rectangular pulse of lugh amphtude and narrow width
3. Triangular pulse

4. Trapezoudal pulse

Question Number : 189 Question Id : 67809417812 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Inan UJT, mazunum value of charging resistance 14 associated with
Options :
1. Pealt Pomt

2 Walley Pomt
3. Any pomt between peak and valley point

4, After the valley pomt

(Question Number : 190 Question Id : 67809417813 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Triac can be used only m

Options :
| iverter

2 orectfier

]

- Wultiquadrant chopper

4. Cycloconverter

(Question Number : 191 Question Id : 67809417814 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Freewheelng diode in a converter 15 placed

Options :
1. In series wath each thyristor

e

2. In shunt with each thynstor

(]

CAcross the D O load impedance

4 In gertes with the D .C load inpedance
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A cycloconverter 15 a

Options :
CAmplitude changer

2. Phase changer

TTYT.

3. Waveform changer

4. Frequency changer

(Question Number : 193 Question Id : 67809417816 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In dc chopper, 1if T 15 the chopping penod, then the output voltage may be controlled by PVWIV by

COptions :
1. Varymg T, keeping TON constant

2 Warymg TON, keepmg T constant

]

CWarymg TOFF, keeping T constant
4 Warying T, keeping TOFF constant

Question Number : 194 Question Id : 67809417817 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

& single phase voltage source square wave mverter feeds pure mductive load. The waveform of the load cwrent will be

COptions :
1. simsotdal

2. rectangular

]

. trapezoidal

4. triangular

Question Number ;: 195 Question Id : 67809417818 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The PAVIV control of D C. IMotor varies with speed

Options :
1. wversely

-

_. parabolically

]

- exponentially

4. inearly

Question Number : 196 Question Id : 67809417819 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

olVIPS are based on the principle

Oplions :
1. Phase control

. Integral control

L]

(]

. Chopper

4. NMOBFET

Cuestion Number : 197 Question Id : 67809417820 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tumber of flags of 5051 18
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Question Number : 198 Question Id : 67809417821 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientation : Vertical
During PUBH mstruction, the staclk pouiter 13

Options :

1. Incremented by two

-

(]

- Ineremented by one
- Decremented by two

. Decremented by one

Question Number : 199 Question Id : 67809417822 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
In 8255, the length of a control word 13

Oplions :

1

-

s

. 2-bytes
. 4-hits
a-bitg

. 12-Dbits

Question Number : 200 Question Id : 67809417823 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientation : Vertical
PIC 825015 a

Oplions :

1

e

3.

4.

40

I
-

24

7
£

pin clup
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